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CLASS : 1l MATHEMATICS

1. In an ceroplane, the business class can fetch 4
passengers while the economy class can fetch 81(
passengers. How many passengers can 5 such aeroplaner

fetch?
(A) 30 (B) 40 (C) 50 (D) 60 "‘(
2. s¢ ) 4 Y gy
- (15\ !’
Number in place of '?' is 5 )‘F

(A) 869  (B)B6E  (C)Y8e (D) 865
3. Study the hexagon below: -

1
t1$\ :
The sdgm o )%and«%

(A)9Q+ 275 ' (B) 70 + 315

(C) 90 [ia@ (D) 70 + 275

4 Mrs; vi bought a chocolate bar for her children.

( She '?ve 9 of the chocolate bar to each daughter

and
number of daughters and sons.

> r'll'he fraction of the chocolate bar was given to her sons is:

(A ®>  ©, O,
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5. John's sport shop is having a sale.
Look at the items on sale and answer the question.

<
J d

v

Manoj bought twd items for Rs. 34. He bought the
(A) racket, Ball (B) shoes, ball
(€) shoes, cock (D) shoes, cap

6. If run connects the points shown here with the
segments, what shape will be make?

4
_"‘I' ’ .rl
» ) Xe
. - | 4
& .
(A) Triangle (B) Square
(C) Rectangle (D) Hexagon
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“« 4N
Basket A Basket B Basket € ) (? / » )

Basket A contains 3 more apples than Bask& B. r
Basket B contains 6 fewer apples than Basket, &, If T
put 2 more apples into Basket B, theré& will be 10
apples in Basket B. Which baske the osi}]pples

(A) B (B) C © 40\ “|o) )B&

8. The makers of Fountain Mingral Wafer are havmg a
special offer.

= I

{Coﬂectan v 5 bottle caRys @ dg'eta J

et |

bottle of Fountain Mineral Wa ter free! | Lietrra |
_ 3 rl.\fo&’c:r i
——
% ‘bi::-::;/)
Anu collec g&' bottle caps.
How many r'] boﬁ'les of Fountain

9, Aladdm as 4 boxes filled with coins.

180 Coins ‘ -

ﬂe number of coins in each box is shown below.
In which of the 3 boxes are there 740 coins altogether?
(A)B,C,A (B)A,B,D (O)CA, D (D)B,C,D

a8 Mine" ater can she get?
(J (A) 2 ‘ﬁ (8) 3 () 4 (D) 5
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10. Sushma uses building blocks for' The carriages of a
train.

She has some 10-cm and 20-cm building blocks. <

Find how many 10-cm and 20-cm building blocks shert*
uses to join so that the total length of the car'r'lages

is 50 cm. ’ (; &
(A) 20, 20, 20 (8) 20, 10, 20 _"‘* f
(€) 10, 10, 10 (D) 10, 10, 20 u\ # o/

11-13.The picTur"e graph shows the mber'(o ?ﬂckers
each child buys. 1

449 “‘*"‘*—**’%'4:’%
Jones | i

Meghana

Shanti

H"- 4 S ! - o
] ;F o,
v

|

<& ]
(-/ Each - 51'*] stands for 1 sticker

“d1._The boys bought ____ more stickers than the girls.
e (A) 14 (R) 12 (€) 16 (D) 10
. Meghy.a needs tobuy ___  stickers if she wants to
have /the same number of stickers as Hasan
v (A) 14 (B) 12 () 10 (D) 8
13. The stickers were sold at 2 for Rs. 1. James paid
Rs. ___ for his stickers.
(A) 16 (B) 12 (€) 10 (D) 8
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14. Varun has 1 more cookie than Tarun.
Tarun has 2 fewer cookies than Arun.

Who has more cookies?

(A) Varun (B) Arun A
(C) Tarun (D) Can't be determined r 1
- N
o)
Caps Socks Bags
eachRs.5 Rs.6 a patr Rs. 8 each

L /

15,

Varun bought a cap, a pair of socks and' a ball. He
 pays with a Rs. 50 ndi¢.

How much change Wil he get?

(A) 20 MO @) 30
€32 _ap (D) 28
16. The table (é'lkxshows the number of apples on each
tree. - \ "‘“
L) T
<% a o0 Tree | A B C D
(J 4 | Number
. of apples | 122 | 106 78 100
= _“Which two trees have 200 apples altogether?
(A) A and B (B) Aand C
(€) And D (D)Band C
-~
r
Model Paper E

www.examrace.com



¥
© cLass:n | | Unified Council

17-18 Isha sTr'ung beads foge‘rher‘ to form bracelets.

'Clues: ‘

i Isha used 32 red beads.
She used 9 fewer yellow beads than red beads.
She used 2 more green beads than yellow beads.|
She used 3 more biue beads than red beads.

&~ e
e f \
L i

Each bracelet is of a different colour.

17. What is the colour of the breacelef with', qa { numf
ber beads. ‘

(A) Red (B) Blue (C) Gg€en “ (D) ‘/e’lqow

18. Use the clues to find how many\beqds are ‘used to
~ string bracelet with green ¢olour

(A) 23 (B) 25 (€y3s " (D) 32

19. Vamshi leaves his housg at 9: 40 or school. His
brother, Kalyan leave school 2 hours later and
he takes 30 minuté '!n; reach schgol. What time did
Kalyan reach sch
(A)12: 30PM (B) 12: 00 PM
(C) 11: 30 AMgd - - (D) 11: 00 AM

20-21 Mrs."Kumar jntfc 5 I of rose syrup with 27 [ of water.
420, How Wigh litres of the mixture did she make?
( (A) 32 z-f\\ B)251 (C)307  (D)16!

2

1. Every 2 [litre of the mixture can fill up a jug. How
Y many jugs can the mixture fill up altogether?

{(A) 12 (B) 15 (€) 16 (D) 10
2

A shopkeeper has 10 bags of flour each having weight
10 kg. What is the total weight of the flour bags?

TR 100 kg (B) 150 kg (C) 200 kg (D) 250 kg
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23. Arrange the names of the 4 friends in order.
Begin with the heaviest boy.

(A) Sam, Peter, Andy,
() Sam, Andy, Pe’rei,
24 Look at the picfue

n (D) Jason, Peter, Andy, Sam
w and fill in the blanks.

Jgson
s
o
lo
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25.

friends. .
They finished eating ali the ies fwhile watching
television. )

Use the clues below to find out whg ate the most.
Clues: ' V.

To his mother bakes 2 ‘faakies
Jean and Siri afe' ﬂw{sdme number of cookies
Sam ate 2 mare-cdak/és than Jean

Sri ate 4 codkies :
%Bj.‘sam (€) Siri (D) Jean

(A) Tom
CLASS : Il

1 - = {_.-'s, I:-. l": _-'/ g ;‘!}i:.i;f i
(A) ﬂ @AW M

-

-~ Carrot Turnip Beet root Cabbage
27 . Fibre yielding plants are:
(A) jute (B) cotton (C) coconut (D) all of these
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28. Which of the following is the function of a root?
(A) Takes food to all parts of a plant
(B) Absorbs water and minerals from the soil
(C) Has a baby plant inside it ‘r t«
(D) Fixes the plant in the water . '
29. Which of the following is NOT a plant produ 7{ ol 4
(A) Medicine (B) Cheese (C) Rubber (D) Perfu o

30. Match the pictures of animals with ’rhe:p'cmr-e'srof
‘what we get from them. % ! “ N

¢
e i ”

o P o

ﬁ . %, v . I )
.
(-/ (A)1-E B-q,3-d,4-b B)1-¢,2-b,3-¢,4-d
: ,O1-4,2-¢,3-b,4-a (D)1-¢,2-d,3-a,4-b

Whl of the following animals does NOT make a
home or itself?

eaver bird (B) Mole
-~ C) Lion (D) Koel

32, WhICh of the following gives our body its shape and
holds it together?

(A) Muscles (B) Bones (C) Food (D) Blood
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33. Identify the correcf posture.,

".\‘. ;
T A N
lomrd P

@ ()

(A)

34. Which of the following are small pI
(A) Shrubs (B) Climbers (C)
35. Which of the following is NOT a br' ?

(A) Silk (B) Cotton (C) ) Lea’rher
36. Which of the following e us |II
(A) Fruits  (B) Germs Ve.ge'mb (D) Nuts

37. Which of followmg ‘,s wrong stat men’r’
(A) Tent is a Tempm#y house
(B) Kachcha hqu! are built of mud
(C) Caravans ‘gses made of ice blocks
(D) Puccc:lﬂouseé re build of bricks and cement

38. Match ¥r following and choose the correct answer.
Cuium~ § Column - 11

L 1, ﬁ-louse on wheels a. =
R =
. . L
2] Floating house b.

%

o
? I'..I-.;

> r’ 3. House made of ice
4. House made of canvas | d. oo oam o
' o o
Mode! Paper : m
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(A)1d2 b3c4a(B)1c2d3b4a
(€)1-q¢,2-b,3-¢c,4-d (D)1-d,2-¢,3-b,4-a
39. People who live in very cold places are called: .
(A) Nomads (B) Tribals (C) Eskimos (D) Banjaras '(

40. Which of the following is NOT a safety rule while vaelﬁrp
in a bus? f

(A) Do not talk to the driver | - v
(B) Do not peep out of a moving bus ;i\\ r
(C) Get inor get of a moving bus \' ( ‘
(D) Stand in a queue while waiti or 4 bus 3
41 Which of the following is thg corfectf statement?
(A) Pull or push anybody for ffin
(B) Play games that may hurt you
(C) Swim alone in the swig ng pool '
_ (D) Never open the dg movmg (e.:i:le
42 . Which of the foll ? is the wr‘oﬁg statement?
(A) Air is presentall around us
(B) All ||vmg-¢ﬂrﬁs need air to breathe

(C) Air Elps(n b‘.u*nmg things

|

(D) Ai‘r:’ n be 3‘ en but cannot be felt
-r‘4§,fWh+ch the following is NOT true about water?
(A) Wate \is‘rs in three stages
| (B) Stean is the gaseous form of water
- C) Ice the solid form of water
(D) Non of these

Model Paper m
www.examface.com




IE LA 55 ] Unified Council

44

Which of the fo!lowing objects use air to move?
By
‘ (D)Auo:'fﬁese /;: -*

-

- |
45, Gale is: <t ";
(A) a gentle wind (B) moving air (.1 "':
(€} a season (D) ;‘y«- trong wind
46. Which of the following is afsoutice df surface water?
(A) Hand pump (B) We _
(C) River (D) All 6ffthe above
47 . Which of the following is the co statement?
(A) Heat changes watgrinto ice
(B) We must br"ei‘rﬁ mpure air
(€) The shadowgvd{e longer in the evening
(D) We shodld play on roads.
48 . Which Of(‘l’?lé‘ :following has its own light?
(A) T Mo‘oﬂ (B) The Earth
o ) (C)"f' Star | (D) The Satellite
( 49. Whichyof, the following is used as a fuel in rail
| enginegk
: v (A) Pej:ol (B) Diesel
(C) Cogl (D) Gas
E) HouseS in plains have:
N (A) curved roofs (B) slanting roofs
F(C) flat roofs - (D) dome shaped roofs
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